SRLOMONT SETTING PRRTS

Nozzle holder 3000 Bar (40K) for M10 nozzles
Disenhalter 3000 Bar fur Rundstrahldiise M10
Nozzle houder 3000 Bar voor M10 rondstraal nozzle

Salomon Jetting Parts B.V.
Hoeksedijk 109

ML-3299 AE Maasdam

tel o +31(0)88 126 1900

fax ; +31(0)838 126 1959

e-mail : info@s alomonjetiingparts.com
web . www. salomonjetingpars.com

Dimension mm.
Abmessung mm.

afmeting mm.

LH thread / Links Gewinde/Linkse draad RH thread / Recht Gewinde/rechtse draad
Part No. Connection (F) Part No. Connection (M)
Teile nr. AnschluB3 (IG) Teile nr. AnschluBB (AG)

Art. nr. aansluiting (b1) Art. nr. aansluiting (bu)

NH.M14.M10 M14x1,5L-M10x1,5 NH.M14R.M10 M14x1,5R-M10x1,5

NH.916.M10 9/16"-18UNFL-M10x1,5 NH.916R.M10 9/16"-18UNFR-M10x1,5

@ 20 x 50

Hard steel protecting cover (concrete demolition), complete with st. steel bolts and Alan key @ 30 x 60 mm.
Part number : 195-006




